Straight Line Spiral Pattern (Act 3)

Print a straight line spiral pattern as shown in the example below. Please use the * (asterisk) and
. (dot) characters.

Input

You are given t-the number of test cases and for each of the test cases one integer: s, 3<s<100 -
the size of the shape.

Output

For each of the test cases output the requested pattern. Use one line break in between
successive patterns.

Example

Input:
5

4

5

11

13

78

Output:

*kkk

* %

Kk kk
Fkkk ok

*kk *
* *

*kkkk

Kkkkkkkkkkk
*kk kkkkk *
* *x % * *
* k kkk * %
* * * Kk Kk
* k kkk *k %
* % * %
* kkkkkkk *

Kkkkkkkkkkk

Khkhkkkkkkkkkkk
*kk kkkkkkk *
* Kk * * *

* k kkkkk *k %

* * * * %



* k kkk * *x %

* k kkkkk * %

* * * *

* kkkkkkkkk *

* *

Kkkkkkkkkhkkkk
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*

dkk khkkkkkkhkhkhhkhhhhhhhhhhhhhhkhhkhhkhhhkhkhhhhkhhhhhhkhhkhhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkkkkkkkx *

* Kk * * *
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* * * * %

* k kkk khkkkkkkkkkkkkhkkhkkkhkkhkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhhhkhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkk * % %

* % *x * % * % % %

K ok ok ok kkkkkhkkhkhkkhhhkhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhdkdx % * * %

* * k % * k k * %
K ok ok hk Ahkk AAAAAA A A A A A A A A A A A A A A A A A A A Ak hkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkdkdx % * % % *

* k k *k k * %

* k k *k k %

* k k k Kk k kkkkkkkkhkhhkhkhkhhkhkhkhhhkhhkhhhhhhhkhhhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkkk * ¥ % % % %

* k ok k Kk * * k ok ok k Kk *

* k k k k ok kkk AAKAKAKAKAKAKAKAKAKAKAKAKAKAKA KKK KKK KAk *k*khhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkkdxkkx * % % % % % %

* k k k¥ ¥ *¥ *x *x % * * k% kx *k % % %

* k k k k k k k kkkkkkkkkkkkkkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkkkkkkdk * % % * * * * %
* % %

* * % % % * * % % %

* * % %

Kk ok ok ok ok ok Kk ok kkk kkkkkkkhkhkhhhkkhhkhhhkkhhkhhhkhhhkhhhkhkhkhhd * *k % *k * * * *k %

* k k k k x k * %k *x %

* *k k% k k k * k¥ * %

* k k k kK kK k k k k AAAAAAAAAAAAAAAAhhkhkhkhkhhkhhkhhkhkhkhhkhkhkhkkhkdkd % % % % % % % % % %

* k k k k x *k k k* % * *k k xk k k *k k¥ x % %

* k k k k k k k k Kk kkk kkkkkkkkkkhkhkkkhkkhkhkhkhkkkkkkkkkkkkk * k¥ ¥ * ¥ * ¥k k¥ * % *

* k ko k ok k Kk k k k k k % * k ok k ko k k k ok k Kk %

* k k k k kK k k k k k Kk kkkkkkkkkkkkkkkkkkkkkkkkkkkkkk k k k¥ *k k k¥ *k * *k *x * %

* k k *k *k *x k% %

* * % % * * %

* * % x k¥ ¥ * % % %

* k k k k kK k k k k k Kk kkk khkkkkkkkkkkkkkkkkkkkkkkk k k¥ k k k¥ k ¥ *k k *k * * %

* k k k k k¥ k k k¥ ¥ *¥ k¥ *x * % * k k k¥ k¥ k¥ k¥ *¥ ¥ *¥ *¥ %k *x %

d ok ok ok ok ok Kk ok k k ok k Kk k kkkkkkkhkhkhhkhkkhhkhhkhkkkk Kk ok k Kk ok k Kk k k Kk *k k ¥ *

* k k k k ¥ k k k¥ k¥ *¥ %k *x % * k k k k kX k k *k k¥ *¥ k¥ *x * %

* k k k k k k k k k k k k k kkk Ahkkkkkkkkkkkkkkk *k k *k ¥ k¥ k¥ ¥ *k ¥ ¥ * ¥ *k % *

* k k k k *k k k *k k¥ ¥ k k¥ *x *x * % * k k k k k k k k¥ k¥ ¥ k¥ k¥ *x *x %

* k k k k kK k k k k k k k k k k kkkkkkkkkkkkkk k k k¥ *k k¥ * *k ¥ *¥ k¥ * k¥ ¥ * % %

* k ok k ok k kK ok ok k kK k k k k % * k ok ko k ok ok k ok ok k k k k k k %
* k k k k k k k k k kK k k k k k kkk kkkkkkkk k k k¥ k¥ k k¥ k¥ *¥ k¥ * ¥k ¥ *¥ ¥ *x * %

* k k kK k ¥ k k¥ k¥ ¥ *¥ ¥ ¥ k¥ ¥ ¥ *x *x * * * k% k k¥ ¥ *¥ k¥ ¥ k¥ ¥ *¥ k¥ ¥ ¥ ¥ *x %

* k k k k kK k k k k kK k k k k k k k kkkkkk k k¥ k k¥ k¥ k¥ ¥ k¥ k¥ k¥ k¥ ¥ ¥ *¥ ¥ * * %

* k k k k k¥ k¥ k¥ k¥ ¥ k¥ k¥ ¥ ¥ ¥ * % % * k % k¥ k k¥ k¥ k¥ k¥ k¥ k¥ ¥ ¥ ¥ k¥ *¥ ¥ % %

d ok ko k ok ok k ok ok k ok k ok ok k k ok k kkk k k ok k k k k Kk k kK kK k k k *k k k *k *

* k k k k kK k k k k k¥ k k¥ k k¥ k¥ k k¥ k kk k¥ k¥ k¥ k¥ k¥ ¥ k¥ k¥ k¥ k¥ ¥ k¥ ¥ k¥ ¥ ¥ ¥k * *
* k k kK k ¥ k k¥ k¥ ¥ *¥ ¥ ¥ k¥ ¥ ¥ *x *x * * k k% kX k k k¥ k¥ *¥ ¥ k¥ k¥ ¥ ¥ * * *k % *

* k k k k k k k k k kK k k k k kK k k kkkkkk k k¥ k k¥ k¥ k¥ ¥ k¥ k¥ k¥ k¥ ¥ k¥ *¥ *k *x * %

* k k k k k¥ k¥ k¥ k¥ ¥ k¥ k¥ ¥ ¥ ¥ * % % * k k kK k k¥ k¥ k¥ k¥ ¥ k¥ k¥ ¥ ¥ ¥ * % %

* ok ko k ok k ok ko k k ok k Kk k k Kk k kkkkkkkkkk k k k kK k kK k k& k Kk k k *k *k k ¥ *

* k k k k k k k¥ *k k¥ ¥ k¥ k¥ k¥ *x * % * k k k k k *k k¥ k¥ k¥ k¥ ¥ ¥ *¥ %k *x %

* k k k k k k k k k k k k k k k kkkkkkkkkkkkkk k *k k¥ * k¥ k¥ *k ¥ ¥ ¥ ¥ ¥ ¥ *x k¥ *

* k k k k *k k k *k k¥ ¥ k¥ k¥ *x *x % * k k *k k k k k ¥ k¥ * k¥ * *¥ %k %

* k k k k k k k k k k k k k Kk khkkkkkkkkkkkkkkkkk *k k *k k¥ ¥ *k k¥ *k *¥ ¥ k¥ * *k *x %

* k ok k ok ok k ok k kK k k Kk k *

k k ok ok k ok ok ok ok k kK k k Kk %

* Kk k k k kK k k k k k k k k kkkkkkkkkkkkkkkkkkkkkk *k k k¥ *k k¥ ¥ k¥ k¥ k¥ *¥ *¥ *x *x %

* k k kK k¥ *¥ k¥ *¥ k¥ ¥ *¥ *x *x % * k % *¥ k¥ k¥ k¥ ¥ ¥ ¥ * *k % %

* k k k k kK k k k k k Kk k kkkkkkkkkkkkkkkkkkkkkkkkkk k k¥ k k *k k *¥ *k * *k *k * %



* k k kX k¥ ¥ k¥ *¥ ¥ ¥ * % %

* k k kX k¥ ¥ ¥ *¥ ¥ ¥ * % %

* k ok k ok k kK ok k k * % k k ok ok ok k ok kK ok k Kk %
* k k k k *x k k *k *x * %

* *k k% k k& k k¥ k¥ *x *k *x %
* * %

* k k K hk kK kK k AAXAAAAAAAAAAAKAKAAAAAAAAAAAKAAKAAAK*k) % % % % % % % % % % %

* k k *k k *x *k k *k *x %

* k k *k k k *k k x %k %

* k k k k k Kk k k Kk khkkkkkkkkkkhkhkkkkkhkkkkkkhkkkkhkkkkkkkkkkdk * % % % % % % % % %

* k ok k ok k Kk k k %

* k ok ok k ok k Kk k *

* k k k k k k k k kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk * * * %k k¥ * %k * %

* k k *k ¥ *¥ *x *x %

* * k% * k% * *k % %

* k k k k k k k kkkkkkkkkkkkkkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkhkkkkkkdk * % % * * * % %
* k k *k k¥ * % % * % *x %

* * % %

* k ko k k k K * k ok k k Kk *
* *k k *k k * %

* * k% x *k *k %

* k k k Kk k kkkkkhkkhkkhkhkhkhkhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhkhhkhkkhkkkkdk * % % * % %

* k k *k k %

* k k x %k %

* k k k Kk kkkkkkkkkkhkhkhkkkkkkhhhhhhhhhhhhhhhhhhhhhhhhkhkhhhkhkhhkhkhkhkhkkkkkdx * * % % %
* Kk k Kk * * k ok Kk K

* k k k kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk * % * %
* % % % *

* * %

* % % * % %
* * * %
* % * %

* kkkkkkkhkkhkkhkhkhkhkhkhkhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhhkhhkhhkhhkhkkkdk %

*

*
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